ARIFEX

ASSEMBLY GUIDE

FANBACK COUNTER GLIDER

WHAT'S INCLUDED:

e (8) 1/4” x 3” Wafer Head Bolts

e (2) 1/4” x 2 1/2” Wafer Head Bolts
+ (10) 1/4” Flange Nut

o (2) 1/4” x 2 1/2” Wafer Head Lags

e (4)5/16” x 2 1/2” Water Head Bolts
+ (4) 5/16” Flange Nut

e (8)5/16” Lock Nut

e (4) Glider Arms

e (1) 5/32 Allen Wrench

G INSTALL LEGS ONTO THE SEAT

Attach the leg to the Seat
(Indictated by Yellow Arrow)
Use four 1/4” x 3” wafer head

bolts and four 1/4” flange
nuts to attach the left legs to
the seat (as indicated by Red
Arrows) Then, repeat for the

right legs.

ARTIFEX




a ATTACH BACK TO SEAT AND LEGS

Use two 1/4” wafer head bolts
and two 1/4” flange nuts to attach
the middle brace of the back to
the arms (short arrows), then use
two 1/4” x 2 1/2” wafer head lags
to attach the bottom brace of the

back to the seat (long arrows).

a INSTALL BOLTS ONTO LEGS

Install (2) 5/16” x 2 1/2” wafer
head bolts into the right leg,
then tighten them to the leg

with (2) 5/16” flange nuts.
Repeat on the Left leg.

ARTIFEX



e ATTACH GLIDER ARMS TO BASE

Using four 5/16” flange nuts,
attach four glider arms to the

base.

e ATTACH CHAIR TOP TO BASE

‘ L
Using four 5/16” flange nuts, — j

attach the glider chair top to
| I
ﬂ [

I

ARTIFEX

the glider chair base




